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[] [] [] [] Jooodoogbood
gog ooood ooogd gooo oo go gooo
goooad

goooo t=10cmd O 15.9+18.1 g 34.0 34
ggooaoo t=5cm 559.34+1132.22 g 1,691.6 1,690
0000000000 O AsOd 1,691.6x 0.06 m 101.5 100
ggooaoo 302.18+611.33 m 913.5 910
0o0o0oooooo d goo m 913.5 910
000000000 t=30cmO 00O 15.0kg/0 O d 559.3 560
o000OoDbO0o0D t=30cmbO0O0O17.5kg/0 0O 0 1,132.2 1,130
oooooooon RC-40 t=35cm 559.34+1132.22 g 1,691.6 1,690
ooooooooo M-30 t=15cm 559.34+1132.22 g 1,691.6 1,690
goooo 0000000000 20) 559.34+1132.22 g 1,691.6 1,690
goooo 0000000000 o (20) 559.34+1132.22 g 1,691.6 1,690
oooooog g 30.0 30
gogoogooo goood t=15cm g 436 440
goooo t=15cm g 109 110
goood t=30cm g 6 6
goood t=90cm g 47.8 50




g odobod oogg ob b gdbboobooboooo

goooo b ogo
00o0o 000 OO000O0((t=10cMd0) OOOOODOO (t=5cm) ooon Dmét:ig?gag/g 000
goo goo ood goo ood goo ood goo

NO.O 0.00 7.70 7.70 0.00 4.2 0.00 7.7 0.00
NO.1 20.00 7.70 154.00 4.2 83.20 7.7 154.00
NO.2 20.00 7.70 154.00 4.2 83.20 7.7 154.00
NO.3 20.00 7.70 154.00 4.2 83.20 7.7 154.00
NO0.3+12.4 12.40 8.00 97.34 4.3 52.58 8.0 97.34

ooo 5.70

goo 2.50
gooogo 72.40 15.90 559.34 302.18 559.34
googogn 72.40 15.90 559.34 302.18 559.34




g odobod oogg ob b gdbboobooboooo

Coon - 00000 (t=35cn) 0000 O (t=15cm) 00O (t=5cm) 00O (t=5cm) -
ooo ooo 0oo ooo 0oo ooo 0oo ooo
NO.0 0.00 7.70 0.00 7.70 0.00 7.7 0.00 7.7 0.00
NO.1 20.00 7.70 154.00 7.70 154.00 7.7 154.00 7.7 154.00
NO.2 20.00 7.70 154.00 7.70 154.00 7.7 154.00 7.7 154.00
NO.3 20.00 7.70 154.00 7.70 154.00 7.7 154.00 7.7 154.00
NO.3+12.4 12.40 8.00 97.34 8.00 97.34 8.0 97.34 8.0 97.34
0ooooO 72.40 559.34 559.34 559.34 559.34
0Dooooo 72.40 559.34 559.34 559.34 559.34




g odobod oogg ob b gdbboobooboooo

goooo b ogo
00o0o 000 OO000O0((t=10cMd0) OOOOODOO (t=5cm) ooon Dmét:ig?gag/m 000
goo goo ood goo ood goo ood goo
NO.5+6.6 0.00 goo 10.20 8.00 0.00 4.3 0.00 8.0 0.00
NO.6 13.40 ooo 7.90 8.60 111.22 4.6 60.03 8.6 111.22
NO.7 20.00 8.50 171.00 4.6 92.30 8.5 171.00
NO.8 20.00 8.50 170.00 4.6 91.80 8.5 170.00
NO.9 20.00 8.50 170.00 4.6 91.80 8.5 170.00
NO.10 20.00 8.50 170.00 4.6 91.80 8.5 170.00
NO.11 20.00 8.50 170.00 4.6 91.80 8.5 170.00
NO.12 20.00 8.50 170.00 4.6 91.80 8.5 170.00
gooogo 133.40 18.10 1132.22 611.33 1132.22
googogn 133.40 18.10 1132.22 611.33 1132.22




g odobod oogg ob b gdbboobooboooo

Coon - 00000 (t=35cn) 0000 O (t=15cm) 00O (t=5cm) 00O (t=5cm) -
ooo ooo 0oo ooo 0oo ooo 0oo ooo
NO.5+6.6 0.00 8.00 0.00 8.00 0.00 8.0 0.00 8.0 0.00
NO.6 13.40 8.60 111.22 8.60 111.22 8.6 111.22 8.6 111.22
NO.7 20.00 8.50 171.00 8.50 171.00 8.5 171.00 8.5 171.00
NO.8 20.00 8.50 170.00 8.50 170.00 8.5 170.00 8.5 170.00
NO.9 20.00 8.50 170.00 8.50 170.00 8.5 170.00 8.5 170.00
NO.10 20.00 8.50 170.00 8.50 170.00 8.5 170.00 8.5 170.00
NO.11 20.00 8.50 170.00 8.50 170.00 8.5 170.00 8.5 170.00
NO.12 20.00 8.50 170.00 8.50 170.00 8.5 170.00 8.5 170.00
0ooooO 133.40 1132.22 1132.22 1132.22 1132.22
0Dooooo 133.40 1132.22 1132.22 1132.22 1132.22
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— ) — t=45cm m 109
— ) — t=30cm m 6
= I R 1 S t=45cm m
A
KH-F B LF t=15cmifi A m
H
KH-F B LF t=15cmfi A m
oo - FE R t=15cm m

ERa VIR t=90cm of 47.8




2 22 #H H £ (1 T X)
LA N O &t B =Y /NG
(XE#RT)
SRR
ERERE= t=15cm Ll = 724 + 724 + +
144.8
AR
L2 = 1455 + 1455 + + +
+ + + + 2910
L3 = + + + +
m
436 436
FP R
H {0, - AR t=15cm Ll = 362 + 727 + + +
+ + + 108.9
L2 = +
m
108.9 109
TH~—7 m
EFERE= ] t=30cm L = 300 + 3.00 + + 6.0 6
e m
8, R t=45cm L = +
=k} RETAE T 15
KEFE3CFE | t=15cmifiE Ll = + + +
Hin#~—7
L2 = + + + +
REN
L3 = + + + +
m
f-ogad) T gl 9 m
KE3E A5 | t=15cmifats L =
FP R m
W ERR t=15cm L = +
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